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Q.No: 1 In which of the following cities, India’s first Agriculture Export Facilitation Centre was opened?

2426881
fofafe o 9 5w wex & URd &1 ugen Y ot g $x grer mar?
Bhopal
A
Hiure
Imphal
B
0T
Kolkata
C
HrABTAl
Pune
D
o

Correct Ans : D

Subject : General Knowledge

Q.No: 2 When did Narendra Modi government launched its flagship Smart Cities Mission ?

2427383
TR TIE WHR F 30T 7T W R fiRH &9 = fare
2022
A
2022
2023
B
2023
2014
C
2014

D 2015
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2015
Correct Ans : D

Subject : General Knowledge

Q.No: 3 Indian government is planning to eradicate tuberculosis by which year?
2427395

HRA R 5T 98 a9 dufee o A B B Tl 91 | 82

2022
A

2022

2024
B

2024

2035
C

2035

2025
D

2025

Correct Ans : D

Subject : General Knowledge

Q.No: 4  Where is the Headquarters of the Infosys?

2428880
SRIRT PT T Hel 87
Chennai
A
EEH
Kolkata
B
FresTar
Jaipur
Cc
SIOqY
Bengaluru
D
drge

Correct Ans : D

Subject : General Knowledge

Q.No: 5 The IMF and the World Bank commenced financial operations in which year?
2428881
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IMF 3R fay §% 3 frg af i< Tarem g faare

1999
A

1999

1947
B

1947

1967
C

1967

1955
D

1955

Correct Ans : B

Subject : General Knowledge

Q.No: 6  What is the name of the Brahmaputra River in Tibet (China) and Bangladesh respectively?

2428936
fossa () SR SFAR B A FEIGH T BT T TH 82
Yangtze, Ghagat
A
Dihang, Banshi
B
Siang, Meghna
Cc
Ryaiw, fe=n
Yarlung Tsangpo, Jamuna
D

Correct Ans : D

Subject : General Knowledge

Q.No: 7 What is the new height of Mount Everest?
2429067

AT TERE BI T8 $HaTs bl 82

8,848.86 metres

8,848.86 Hicx

B 8,840.25 metres
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8,840.25 Hiex
8456.12 metres

8456.12 Hiex

8756.23 metres

8756.23 Hiex
Correct Ans : A

Subject : General Knowledge

Q.No: 8 Cumbre Vieja volcano is located in which country?

2429068
@ fauen sarange frw o & fRd g2
Sweden
A
weT
Spain
B
|
Indonesia
C
iR iR
Thailand
D
uRAS

Correct Ans : B

Subject : General Knowledge

Q.No: 9 By which act the rule of the company was abolished?

2432129
g Siftfem ¥ Soft & I &1 I PR e T
Government of India Act 1858
A
YRd PR fufraq 1858
Government of India Act 1861
B
YRd PR fUfrad 1861
Government of India Act 1883
Cc

YR PR fuf~aw 1883

D Government of India Act 1893


https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

Addacy47 Eoogle Play

HRA PR Afuf~aw 1893
Correct Ans : A

Subject : General Knowledge

Q.No: 10 Through which act the formation, financing, functioning and winding up of companies are regulated?
2432154

Hufa & e, faxiv, HHe™ R g B by sififos % rem § Fafa e S g2

Companies act, 1950

A
St Hfufraw, 1950
Companies Act, 1952
B
UL rf¥faw, 1952
Companies Act, 1954
C
Ut af¥fRaw, 1954
Companies Act, 1956
D

Ut erfifam, 1956
Correct Ans : D

Subject : General Knowledge

Q.No: 11 In which state is India's largest aluminum factory located?
2434463

URA B YN §8T Tgom Hadh g sa & R g 2

Mizoram
A

freiRa

Assam
B

e

Punjab
Cc

LEIC)

Odisha
D

afifs=m

Correct Ans : D

Subject : General Knowledge

Q.No: 12 Who became the first Indian women to win two Paralympic medals at a single edition of the Paralympics?
2437139
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Wi & U T&HRUl H < WRIcifies Uge Sl arell ugell HRdT A &I s+i?

Bhavinaben Patel

A
YT wed
Avani Lekhara
B
erafy dEmT
Hima Das
c
femr e
Meerabai chanu
D

LINCIER IS

Correct Ans : B

Subject : General Knowledge

Q.No: 13 Which folk song is sung on the occasion of birth of a child?

2440763
B U AP N T F FH & G W T ST 32
Sohar
A
Rl
Biraha
B
fawer
Alha
Cc
3Rl
Kajari
D
Pt

Correct Ans : A

Subject : General Knowledge

Q.No: 14 The ancient Vaishnava site, with a colossal Varaha, a gigantic image/jpg of Vishnu and a pillar of Gupta inscription can be found at -

2441208
T A g R R T = wig & r, fw] ot ue fwna ofa ok T Riac @1t @Y g B U o 9ol g -
Pali

A
areft

B Eran and Pahzelpur
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W IR TEAR
Bamora
C
FHRT
Gourjhamar
D
TRETR

Correct Ans : B

Subject : General Knowledge

Q.No: 15 Patalkot Valley is located at

2441412
UdTcdbie u1et # R g1
Tamia
A
arferar
Panchmarhi
B
LEL
Pench
c
g
Mandsaur
D
HZER

Correct Ans : A

Subject : General Knowledge

Q.No: 16 In which of the following journeys will a person have to cross the Tropic of Cancer?

2441477
Frafifed # @ fow amn # sufdd @) Hb Y@ B UR AT gHIT?
Morena to Gwalior
A
AT & @R
Bhopal to Sanchi
B
iare & Wit
Betul to Chhindwara
C

Fqa I Rqarer

D Balaghat to Mandia
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qraTae § Hedl
Correct Ans : B

Subject : General Knowledge

Q.No: 17 The building of the Jabalpur High Court was established in which of the following years?

2441715
SR I e BT SR B RO Fgfifad § ¥ few a8 # 3t 78 ofte
1880
A
1880
1881
B
1881
1876
C
1876
1899
D
1899

Correct Ans : D

Subject : General Knowledge

Q.No: 18 Which of the following district does not fall under the Nimar plains agro-climatic zone?

2441787
fFrafafed # @ S a1 e Frs & Aar! & $iY Saarg &7 & Siavid To! Sffdl g2
Indore
A
R
Burhanpur
B
PRETR
Barwani
C
qgart
Khandwa
D
Fear

Correct Ans : A

Subject : General Knowledge

Q.No: 19 Who is the author of the book “Shuttling to the Top: The Story of P.V. Sindhu”?
2776146
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“RrefelT € § 2 g WRY o . dl. Riy" & b B 8 ?

Jatin Sapru
A

sifer &y

Nalin Mehta
B

i fgan

Sambit Bal
c

GGG

V. Krishnaswamy
D

&t poomard
Correct Ans : D

Subject : General Knowledge

Q.No: 20 The Radcliffe Line is the boundary demarcation line between

2776147
Yot Yt & o i daie Y 2
India and China
A
YR R 9
India and Bangladesh
B
YRE 3R e
India and Pakistan
c
YR 3R urfwar
Afghanistan and Pakistan
D

ST 3R uIfhear™

Correct Ans : C

Subject : General Knowledge

Q.No: 21 The animals that have symmetrical right and left sides are called-

2429845
forT Sigaft @t e ofik st Yot Tfir Bt 8, 3 Feard 8-
diploblastic

A
featery

B bilaterally symmetrical
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feuehta +u @ wafha
triploblastic
Cc
PreRet
radially symmetrical
D

39 & | qufta
Correct Ans : B

Subject : General Science

Q.No: 22 Observe the following figure given below. This organism belongs to which phylum?

2429929
Roundworm
A
Arthropoda
B
smifasT
Echinodermata
(o}

HERISU

D Annelida
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TAfersT

Correct Ans : C

Subject : General Science

Q.No: 23 Which of the following is NOT a nitrogen-fixing plant?

2431697
Prafed 7 3 i ATecior RIS #3 T G 7 &7
Clover
A
feraferar =
Soybeans
B
GICICIES
Tulsi
Cc
geit
Alfalfa
D
SR TePT

Correct Ans : C

Subject : General Science

Q.No: 24 is used in refrigerators, air conditioners and aerosol sprays.
2431723

%1 IUGNT YhoReR, TR HeTR 3R WE W # fHar S 71

CFC (chloroflourocarbon)

A

et (FRITERIETE)

ozone
B

airsirT

butane
C

e

neon
D

o

Correct Ans : A

Subject : General Science

Q.No: 25 Schistosomiasis is also known as -
2434305
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R, FETH W TS -

Snail fever
A

T gER

Lizard fever
B

fouwrd gER

Water fever
c

RLRLE C

Urine fever
D

A qER
Correct Ans : A

Subject : General Science

Q.No: 26 Reflection of light means:

2436412

THTR & I BT 37 g

Light is absorbed by the surface
A

TSI g GRT Sasiiyd & mar @

Light is bent by the surface
B

TSI HaE & 4 T

Formation of rainbow
Cc

gaegy o1 fafor

Change of direction of light
D

uepTRI o1 o= & uRad

Correct Ans : B

Subject : General Science

Q.No: 27 MSG, commonly mixed in to Chinese food, stands for -
2437206

TH.TH.S. (MSG), R 3mdR W = Hiee & feman smeem o €, &1 qof U -

monosodium glutamate

HafEa gere

B monosulphur glutamate
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AP TYeHE
monosodium glutcose
Cc
AAEISTH Teae
monosulphurous glucose
D

TR DI

Correct Ans : A

Subject : General Science

Q.No: 28 Which of the following movement is known as the game of political greed?

2439801
frofafed & 9 fey sidied o Ao ifae aea & d & A9 9§ ST Sl 82
Maiti Andolan
A
At rige
Bishnoi Andolan
B
fasig siiier
Jungle Bachao Andolan
C
SiTer St siere
Narmada Bachao Andolan
D

THar TS g

Correct Ans : C

Subject : General Science

Q.No: 29 Who was the exponent of environmental determinism?

2439845
TfaRvit fFafiare & ufares o 9 2
Friedrich Ratzel
A
Fei® Yeoa
Benjamin Franklin
B
o Sefer
Adam Smith
C
TeH Ay

D Karl Ritter

GET IT ON
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BT ez

Correct Ans : A

Subject : General Science

Q.No: 30 __ isthe SI Unit of Electric Current.
2439879
_ faqgd YR B S13PEE B
Ampere
A
THRR
Coulomb
B
T
Newton
C
HeA
Distance
D
Al

Correct Ans : A

Subject : General Science

Q.No: 31 Out of the following what is the busiest part of the human body?

2439926
frofafed & & THa IRR F1 Ja¥ T T HIF 1 52
Eye
A
ot
Hand
B
BIY
Femur
Cc
SHfd®r
Heart
D
&

Correct Ans : D

Subject : General Science

Q.No: 32 Which crop is predominantly grown during the Kharif season?
2783655
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Ww O ¥ g8 w0 9 B & wad IR o 82

Rice
A

qrqd

Wheat
B

i

Mustard
c

GRSl

Gram
D

-1

Correct Ans : A

Subject : General Science

Q.No: 33 Aerial roots are especially beneficial for plants growing in

2783801
REIEES # I ara def & fore fady wu @ wraeHe g 7
Dry and arid regions
A
[ TG IR &
Waterlogged areas
B
S &
Sandy soil
C
a wd furgt
Fertile soil
D
Sas; fargh

Correct Ans : B

Subject : General Science

Q.No: 34 What is the atomic number of Oxygen?

2784636
SHTefioT T IRA] HHib T 32
2

A
2
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8

12
C

12

27
D

27

Correct Ans : B

Subject : General Science

Q.No: 35 In which part of the plant cell does photosynthesis mainly occur?

2784716
YT TREYUT THd: UTGY HIRIeBT & oo T & gar 82
Mitochondria
A
HIgIPI$ar
Nucleus
B
ElIREY
Chloroplast
(o
FIRI@RE
Endoplasmic reticulum
D

3: Ucoudl SfereT
Correct Ans : C

Subject : General Science

Q.No: 36 Find the odd word out.

2424527
ST g BT T BTl
Cytoplasm
A
G
Mitochondria
B
ATEerBifgar
Chitin
C
Frgfed

D Lysosomes

GET IT ON
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SRR

Correct Ans : C

Subject : General Reasoning

Q.No: 37 Find the odd word out.

2424538
ST Vg BT TG PIfo|
Lucknow
A
qETH
Chennai
B
EEH
Ahmedabad
C
SfgHeISIq
Itanagar
D
TR

Correct Ans : C

Subject : General Reasoning

Q.No: 38 Find the odd number out.

2424546
SR AT BT T Bifor|
8
A
8
32
B
32
56
C
56
97
D
97

Correct Ans : D

Subject : General Reasoning

Q.No: 39 In the given diagram, Circle represents Women, Square represents the old Women and Rectangle represents healthy Women.
2426589
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i
an

How many Women are healthy but not old?

fau v e #, g9 Algenst &1 ufaffia wvar 8, ovf 9} wiganeit &1 ufaffia wxar 7 oiR mud TRy wfganedt &1 ufaffa e 31

4

et Afgeny T € difb gt et 82

5

7
Correct Ans : B

Subject : General Reasoning

Q.No: 40 Which of the following diagram indicates best relation between Sister, Mother and Woman?
2426737

fofafed o ¥ S 1 3R T&, 1T 3R A & S T 3 YeY HI -l 872
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Correct Ans : C

Subject : General Reasoning

Q.No: 41 As shown in the question figure below, A piece of paper is folded and cut from the given options in the answer figure. Select the one
2427795 |ike which the paper will appear when unfolded.

Po———

|

T HTT BT [l TR 3B gt
_____ - =
! |
__.L__ L | =
Ly I
| " -
—
.y &
v v
A Fay
A
—
Y &
v v
fa Fat
B
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[+ ab g
v
I |
&
C
[ 9B <
v
I |
[y
v Kl
7 ]
A v
v Pt
D
v v
7 v
A v
v £

Correct Ans : A

Subject : General Reasoning

Q.No: 42 As shown in the question figure below, A piece of paper is folded and cut from the given options in the answer figure. Select the one
2427809 |ike which the paper will appear when unfolded.

SHETESER R /'-"".\
’ A ’ A
ey f | | !
- 1
A
| ~

F U T Uy Spla B TH HI & THS B AIST 3R BT T 8, < TS IR AHA P [Fhedl § ¥ 3 SR NPT &1 997 HY, O & /IS ok F1e
TT BT B WA R B gh

ARSI R
' 5 s i)
S | f | | !
& 1
NESZR
| -
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Correct Ans : C

Subject : General Reasoning

Q.No: 43 As shown in the question figure below, A piece of paper is folded and cut from the given options in the answer figure. Select the one
2427810 ke which the paper will appear when unfolded.

LA,

-
s | 1
]

FR T T Uy B T TH HHIE & s B HIST AR HIel T 7, § T8 IR NP & [IHel T I 39 SW G BT 9 R, o1 i A9 3R F1e
T HTT BT [l TR 3BT a1t

=

r 1

b | ] | |
] |

|

RANEZSN
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» WMo
&”GD&»,

e We
&o,w@

Correct Ans : C

Subject : General Reasoning

Q.No: 44 As shown in the question figure below, A piece of paper is folded and cut from the given options in the answer figure. Select the one
2427820 |ike which the paper will appear when unfolded.

I 1
I I
I

I

N

2 e T Uy ST H T B & ghe B HIST SR PIeT T 7, & 7T SR PN & fadbedl § ¥ I IR AP BT 997 I, O b AIS 3R F1e
T HTTS BT [l TR 3B g
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Correct Ans : A

Subject : General Reasoning

Q.No: 45 As shown in the question figure below, A piece of paper is folded and cut from the given options in the answer figure. Select the one
2427835 |ike which the paper will appear when unfolded.

R

T2 2T T Uy B T Th P b hS B HIST 3R HIeT T 7, & T8 IR NPl & fIhedl & T 39 SR MBI 31 907 F, o1 i AS 3R P1e
T HIT B [l TR BT ST

T r-——-r——/jr - »
USRS P

130080
10080

130080
PE0086

Sh0g
1003
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12000
R
1001

10030
130030
130080
130030

oo o
o9 O¢

030
030

<0

130
180

Correct Ans : B

oo
0O 00

Subject : General Reasoning

Q.No: 46 Which answer figure will complete the pattern in the question figure?
2433187

e L
.~ .

TS IR Mot F F BI-T U Pl F Yot B 1 Hwie

[
[
i
i
P
P
N L
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[

Correct Ans : B

Subject : General Reasoning

Q.No: 47 Identify the figure that completes the pattern.

S
AE

3G PTa FT UgTH B of Yo Bl R Bl B

- [Up
A
U
U
53
=]
R

)



https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

Addaizy7 Eooale Play

Correct Ans : B

Subject : General Reasoning

Q.No: 48 Select the option that is related to the third number in the same way as the second number is related to the first number.

2434916
25:108::41:7?
Y e &1 787 B o TR T ¥ I UoR Tefiid ¥ S8 R e vgel e § e
25:108::41:7?
170
A
170
171
B
171
172
C
172
173
D
173

Correct Ans : C

Subject : General Reasoning

Q.No: 49 1Identify the classes that best represents the relationship among the given diagram.
2435568

37 AR B} g B o fou M SRE & ol oy BT JaE 33T Ul Ra g
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Husband, wife, Son

A
ufd, aell, der
Urban people, Educated, Hard-working
B
e &, Rifdm, Ageeht
Liquid, Water, Sand
Cc
@, a3
Livings beings, Rodents, Men
D

Correct Ans : D

Subject : General Reasoning

Q.No: 50 1Identify the diagram that best represents the relationship among the given classes.
2435680
Parrots, Birds, Mice

39 ARG P! g B ot T U AT & T Jey BT T 3T Ui B B

did, uelt, 98
Fipi .
(O)O
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Sy
|L () ) ]
\\\\:j,/ {f

e SR

Correct Ans : A

Subject : General Reasoning

Q.No: 51 Six friends sit in a line . Some are facing north and some facing south.

2726853
¢ Two people sit between Ankit and Abhi and none of them sit at any corner and Ajay and Abhi are immediate neighbour .

¢ Only Anuj and Arun who sit third to the right of Anuj face South.
eAmit and Arun are neighbour and both dose not sit at any corner and Ajay sit at extreme left end.

Who sit second to the right of Arun?

BT A TP UfRT § 90 € 5o IR B 3R 3T @ T 3R 3o 2w Y ek TT W B

o QI AfF Siferd SR S & 7ew 95 § SR a1 foprelt off BR R 7Y a1 71 3o, oifty TSI B
o R oger 3R e S b ogel F AT @ R R R R, <fér Y iR g e B

o AP, SRF HT USRI 7 SR T faret off R W A 83 § oo Ufdd & S a1t BR W 7
FT F T Y g VH |R $HH 937 8

Ankit
3ifpa
Amit

Ajay

Abhi

3y

Correct Ans : C

Subject : General Reasoning


https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

Addacy47 Eoogle Play

Q.No: 52 N walks 10 m to west, turns left and walks 10 m and again turns left and walks 10 m. What is the direction he is facing now?

2727076
Nugﬂﬁsnm“rshw 10 Ht. Tear g1 o a8 ggar § ok 10 HY. e § aur R 98 R 918 gedT § 3R 10 M. 9adr 81 3@ a8 e i3z a7t ok 3@
Bl e?
East
A
o
South-east
B
féror-qd
North-West
C
IWR-ufEH
South
D
afaor

Correct Ans : A

Subject : General Reasoning

Q.No: 53 In the given question a statement followed by two assumptions numbered I and II have been given. Consider the given statements to
2727083 pe true even if it seems to be at variance with commonly known facts and then decide which of the assumptions is/are implicit in the
statement disregarding commonly known facts:

Statement:

Recently, the state government compulsory the biometric attendance in all government offices.
Assumptions:

(I) It may be possible that some employees do not came to office on time. From this the problem be create.

(II) It may be possible that mostly employees send other persons in place of their own for work and do other work.

20 T Uy ¥, TP HYT F Y 3 QHURUMY 1 U7 11 2 T B1 7 HUA &) IF AHSR U &) I8 T 1d adt § e o A e
et T Fuffd o1 € 5 1 9/ gduron safifed 22

Y
B 8 H, I8 DR 3 It WpR prafed § aaifes Iufkufy sifard o= & 81

gdyRom:

(1) & Toal B, % T HHaRt T R Hrafad 7 o 8 ) orf # aer I gt 81

(I1) B aT 8, IBIR HHART 307 VI W g Afaadl &1 AId B A 81 3R T GIRT B I 8|

Only assumption I is implicit

Faa gduRon I rfifed &

Only assumption II is implicit

Fad qIURUT IT <-fed 8
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Either assumption I or II is implicit

7 &t g I a7 11 srfifed &

Both assumptions I and II are implicit

Y gdeRomY 1 quT 11 srafifga @

Correct Ans : D

Subject : General Reasoning

Q.No: 54 Find the number of triangles in the given figure?

2727096
]
A e arf e iy 2
]
15
A
15
12
B
12
18
C
18
20
D
20

Correct Ans : A

Subject : General Reasoning

Q.No: 55 Read all information carefully and answer following question?
2727108

Digits/Symbols- * § %+ # A © 354721689

Codes-AB CDEFG HIJKLMNOFP
(I) If first place is even number and last place is odd number then both places are to be coded by first digit / symbol.

(II) If first place is odd number and last place is even number then both place codes will be interchanged.

Ad6#*

fau e s &Y U SR Y MY Uy Bl SR <
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HFMAAF-* S %+ #A© 3547216809

FE-ABCDEFG HIJKLMNOP

(1) afe Tedr ue TH e § SR sifqd U faww Tem § o ued ok sifaw ue & #is § Ugd Ug &l Bis ferar sme|

(11) afg ugan ug fawy e g ok sifad U a9 T &, o ugd o oifom ug & IS &1 vy & i uRad fasar sme |

AdG#*

FINEA

FINEA

FINEB

FINEB

AJNEF

AJNEF

FINMKS

FINMKS
Correct Ans : A

Subject : General Reasoning

Q.No: 56 In a factory, there are 40% technicians and 0% non-technicians. If the §0% of the technicians and
2422317 40%, of non-technicians are permanent employees, then the percentage of workers who are temporary
is?

Th HRIAM H 40% THNRAT 3R 60% TR-TH-NMRET &1 TS 60% TR 3R 40% R-TH-NREH R HAR) §, O rurf HHenial o1 ufawd
AT R?

Correct Ans : C

Subject : General Maths
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Q.No: 57 A box has 195 coins of denominations of five-rupee and one-rupee only. The ratio of their respective values is 160 : 7. The number of
2429465 one-rupee coin is :

TF g B Fad Ui v oIR U ¥ & Ryads § SFa oo 9= 195 81 3% Wafid gl &7 3FuId 160: 7 B U6 U & iad o Wem §:

35
A

35

160
B

160

70
C

70

80
D

80

Correct Ans : A

Subject : General Maths

Q.No: 58 Ifx:y=6:7, then (7x + 9y) : (5x - 3y) is :

2429500
Uféx:y=6:7,?ﬁ(7x+9y):(5x-3y)%:
35:3
A
35:3
38:3
B
38:3
19:6
C
19:6
18:7
D
18:7

Correct Ans : A

Subject : General Maths

Q.No: 59 Rohit borrowed Rs 60000 from a bank at 9% per annum for 2 years. He lent this sum of money to Rohan at 10% per annum for 2
2432819 years. How much did Rohit earn from this transaction?

AT 7 TH % ¥ 2 T P AW 9% Tfd 9 F1 G F 60000 TUY IR o] I I8 AR AsT B 10% Ud g B R ¥ 2 I8 & o IUR <1 3q I J
AR Bt et HIE g2 2

A 1400
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1400
1300

1300
1200

1200
1100

1100
Correct Ans : C

Subject : General Maths

Q.No: 60 A sum of Rs 15000 amounts to Rs 18750 in 5 years at the rate of simple interest. What is the rate of interest?

2432888
15000 ¥ H T MR WLYRO TS $Y & ¥ 5 I8 F 18750 IV 1 IIcll §1 S &= T 32
4%
A
4%
5%
B
5%
3%
C
3%
6%
D
6%

Correct Ans : B

Subject : General Maths

Q.No: 61
2433008 For a particular show in a circus, each ticket costs Rs. s1z If 3009 tickets are sold for

the show, how much amount has been collected?

H&E H us @9 e & fore, gode |cmcﬁﬁr$|ﬁd%mi’rﬁ|Hﬁeﬁ%ﬁummﬁ?ﬁréﬁmﬁ

&, o Troeir TR U o S 27

A 678756
Rs, ———
489
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678756
489

Rs.

335543
807

Rs.

335543
807

Rs.

171524034
498

Rs.

171524034
498

Rs.

None of the given options

fau e faweut & | w15 T
Correct Ans : D

Subject : General Maths

Q.No: 62 If in a marriage 60% people are vegetarian and 30% are non-vegetarian and 15% are both. If there are 300 people in the wedding,
2435205 pqy many people did not eat any kind of food?

T T T A 60% TN AMHTERT & 3R 30% N HGERT & 3R 15% TN ! TR & g1 afe =t & 300 T &, ot fobant ot = et oft vk 1
e T8 far?

75

75

80

80
90

90
100

100
Correct Ans : A
Subject : General Maths

Q.No: 63 A teacher asked the students a question and said that John bought a watch for 240 rupees and sold it for 300 rupees. He asked about
2437814 e profit from three students. And their reply are given below

Student I: John got profit of Rs.60

Student II: John gained profit of 20% on CP
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Student III: John gained 20% profit on SP

Who spoke correctly?

TP e A B A TP Y UBT IR Hel {5 Wi 7 240 IW H T gt WIST 3R 3/ 300 IUF H 411
IO fF BE Y Y F IR T YBT qUT 361 ware A foar mar §

BHE 1: S BT 60 TG BT ATH
B 11: S Bl AFd Hed TR 20% BT AH g3l
BHE I11: & A 3% e W 20% &1 a1 Ui fopan

U Tel wame faar?

Student I and Student II

A
B 1 3R B 11
Student II and Student III
B
B II 3R BT 111
Student I and Student III
C
B 1 3R B 111
Student I, Student II and Student III
D

BHE I, B II 3R O III
Correct Ans : C

Subject : General Maths

Q.No: 64 The simple interest for 5 years be equal to 40% of the principal, then in how much time it will be equal to the principal.

2439133
5 Y & fTT YR TS AL & 40% & SRISR 81, @ fova I & o711 JAuT & SRIeR ghT|
12% years
A
1
125 ELi
12 years
B
12 =4
2
13- years
5
C
2
13; EL|

D 11 years
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11 a4

Correct Ans : A

Subject : General Maths

Q.No: 65 Parth has lent some money to Rohit at 10% p.a. and the Shyam at 8% p.a. At the end of the year, he has gained the overall interest at
2439158 gy, p.a. Find the ratio of money he had given to Rohit and Shyam

7 3 10% ey R AT F iR 8% UfITS W =M I F& AR IUR & T8 F 3id F 3T 9% ufdad &1 st st
RAfed SR AW H € T AR BT ST G B2

1:1
A

1:1

2:3
B

2:3

1:3
C

1:3

3:5
D

3:5

Correct Ans : A

Subject : General Maths

Q.No: 66 A machine is sold at a profit of 18.18%. Had it sold for Rs.75 less there would have been a profit of 12.5%. Find the SP of machine

2730454
TF TR0 18.18% Y WR It St 71 3G 8 75 %. 0 & 991 Sl § @ 12.5% 1 a1y gl 81 9= &1 fasvaged Jasul
Rs.2500
A
Rs.2500
Rs.1320
B
Rs.1320
Rs.1560
C
Rs.1560
Rs.1160
D
Rs.1160

Correct Ans : C

Subject : General Maths
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Q.No: 67 A salesman has a fixed salary of Rs.7200. Apart from this he is allowed 12% commission on the total sales and a bonus of 1% on the
2781123 gjjes over Rs.15000. If the salesman’s total monthly income is Rs.14850. Then, find the total sales of the company?

TP Y BT AEH HR BT 3 7200 TYT § 3P 3MATdl, S d 9 R 12% HHTH 3R & 1,5000 IUF T 31 bt |R 1% b1 99 forerar &1
I I &1 $A TIRIS 3T T 14850 g1 T HUN Bt ot faeht &1 U T2

Rs 50000
A

Rs 50000

Rs 60000
B

Rs 60000

Rs 6000
C

Rs 6000

Rs 70000
D

Rs 70000

Correct Ans : B

Subject : General Maths

Q.No: 68 The area of the rectangular field is 1280 square meter. If the length of the field is 25% more than the breadth of the field, then find
2781225 the cost of fencing the sides of rectangular field at the rate of Rs. 24.50 per meter.

T AHR ASH BT &% 1280 T e B A ASM Bt aaTs AgH B A8 U 25% HAF 7 @ SMIAHR AgH B Yl W 3. 24.50 Ul Hex 3t

R Y I8 WM &I AN fobat grf?
Rs. 3,528
A
%. 3,528
Rs. 3,636
B
%. 3,636
Rs. 3,774
Cc
%. 3,774
None of the given option
D

fau e faweut & | w15 T
Correct Ans : A

Subject : General Maths

Q.No: 69 Pipe A and Pipe B can fill a tank in 12 hours and 15 hours respectively, and Pipe C can empty the same tank in 20 hours. If all the
2781239 three pipes are opened together, then find the time taken to fill the tank.
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137 A 3R UISU B T <h! Bl HHT: 12 °eT 3R 15 el H 1R Iohd § 3R UIgT C I4T <ol &1 20 Hel § Tell R bl g TG oY Urgy & iy H
Tl Wl § < <1 B WX B O pol GHY fbe 87

6 hours
A

6 HeT

8 hours
B

8 ¥l

9 hours
C

9 Hel

None of the given option
D

fau v faweut A T H1g T
Correct Ans : D

Subject : General Maths

.No: 70 . . . . 1 .
c22784290 What is the quadratic polynomial whose sum and the product of zeroes is /2 and " respectively?

GRS S AT G ot e (zeroes) a1 AT S oTerer shaver: V2 3 S #2

Ax2-44/2x+1
A

4x2-4+/2x+1

A28 2x+1
B

A28 2x+1

4x24+4+(2x-1
C

4x24442x-1

None of the given options
D

fow g faweut & & B T8
Correct Ans : A

Subject : General Maths
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Q.No: 71 Which two numbers should be interchanged to make the given equation correct?
2426645

18-12+3+9x%x2=39

fou TN TR @ W6l 99 & o fo &l Semett & o | dear ST a1feu?

18-12+3+9x%x2=39

12 and 3
A

1233

3 and 18
B

33 18

18 and 2
C

18 3R 2

12 and 9
D

123k 9

Correct Ans : D

Subject : Mental Ability

Q.No: 72 : : : ; 9
2429650 Which of the following cubes can be created by folding the given figure?
X
2

s | v |l

& IS T F Az Tea & F ST A1 97 IART AT FhaT 27
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PE T
X J
Lol
p J A
2 X
v

B
2 X
S
w 5
/‘/
C
5 2 -
w 5
f‘/
D

Correct Ans : B

Subject : Mental Ability

Q.No: 73 In the following question, two statements are given followed by two conclusions (I) and (II). You have to consider the statements to be
2430232 e even if they seem to be at variance from commonly known facts. You are to decide which of the given conclusions, if any, follow
from the given statements. Indicate your answer.

Statements: The standard of education in government schools is much better than private schools.
Conclusions:
1. The private school should make serious efforts to improve the standard of their schools.

II. All private schools should be closed immediately.
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fafeiad uy & < By 3R 39 a1e of ey (1) iR (11) AT U &1 Ul Huel &1 I AFAT 7, HA 81 3 e 91d aul ¥ e udd 8 o
3TIH! T8 q9 B ¢ & 2y 7 Frewel # I HF-31, Tl B 8, 37 T HY= &1 o IRar T U IR BT IGT P

YT WHRT ol B e &1 WR Foft Tedl 3 g & 1ot B8R 2
e

1. ol Td @1 oA el & wR H YUR & g 1R v &= arfgul
11. 3t st el 3 dTa dg B ol a1l

Only conclusion I follows

A
Fad frepd 1 STER ST @
Only conclusion 1I follows
B
Faa freed 11 SR Har §
Either conclusion I or II follows
C
g1 dt s 1 a1 11 SR BT @
Neither conclusion I nor II follows
D

T fFopd 1 3R 7 & 11 SFwRY BT §

Correct Ans : D

Subject : Mental Ability

Q.No: 74 In the following question, two statements are given followed by two conclusions (I) and (II). You have to consider the statements to be
2430241 e even if they seem to be at variance from commonly known facts. You are to decide which of the given conclusions, if any, follow
from the given statements. Indicate your answer.

Statements: Many Parents are prepared to pay any cost for a good education for their children.
Conclusions:
I. Parents these days are very well off and promoted their children.

II. Parents have an obsessive passion for the perfect development of their children through good schooling because their children
become good people.

fafefad uy & < By 3R 39 a1e & ey (1) ok (11) AT U &1 iUl wu=l &1 I AT ], | &1 3 e 91d audl ¥ e udd g g
U g 7T AT § b fou 0 st & & 1 1, afe B Y, faT T HyHT &1 ure aRar g1 31U IR BT 907 B

FYF: H ATI-aT o T BT ot e & Rw H1F o FiAd g S g TR B

s

1. Trar-foer 57 3 9gd o § ok oo =l Y Jgral &4 7

I1. TTT-Far & sret Tt e & Arenm | 3o gt & Wyl e & o Gt S e § i 3% I 9/ $UH 9 g

Only conclusion I follows

Faa freed 1 SrgER Har @

B Only conclusion 11 follows
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Fad frepy 1T 3FHRI HaT §
Either conclusion I or II follows
Cc
7 ot frspy 1 91 I SERT $eaT §
Neither conclusion I nor II follows
D

ot fAep 1 3R 9 € 11 3R #ar &
Correct Ans : B

Subject : Mental Ability

Q.No: 75 Identify the correct response from the given premises stated according to the following symbols. If

2436535
‘+" stands for subtraction

<+ stands for multiplication

“»" stands for division

" stands for addition

3

Which one of the equations is correct?

ffafad el & SR, & ¢ wdf 3 T8 fadey 3t ugaH 31 af-
“+ @ Y TeET B

= @ H{Y IO g

" @ HI T §

& AT A B

e 7 9 H-91 IHexu I8 87

6x2+10+2-5=133

A
6x2+10+2—5=33
3+1-2=5x1=21
B
3+1-2=5x1=21
45%x9+2+3_5=14
C
45%9+2+3-5=14
13+1-6%x3=16
D

13+1-6%3=16

Correct Ans : A

Subject : Mental Ability

Q.No: 76 Saturday falls on 9 Sep, 2011. What was the day 9 Sep. 2007?
2437413

GET IT ON

Google Play
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YfaR 9 fdeR, 2011 F Tsdr g1 9 fRydeR 2007 & & 1 fa= ur?

Sunday
A

faar

Saturday
B

RUEEIN

Monday
C

AR

Tuesday
D

HITAR

Correct Ans : C

Subject : Mental Ability

Q.No: 77 If 15th June falls 3 days after tomorrow, that is Friday, on what day will the last of the month fall?

2437434
e 15 S b & 3 37 o1e i YhaR oY ugar 8, o 7L 1 8w T fobg fomr wdm?
Monday
A
HHIR
Tuesday
B
HITAR
Wednesday
C
FUIR
Thursday
D
TeaR

Correct Ans : B

Subject : Mental Ability

Q.No: 78 How many smaller pieces are obtained by making 9 cuts in X plane, 10 cuts in Y plane and 11 cuts in Z plane on the same cube?

2438457
THHFRXIAH 9 Be, Y TAH 10 Fc 3R Z g H 11 He TH ¥ fbaa B Ths U 8 872
1200

A
1200

B 1024
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1024

1240
C

1240

1320
D

1320

Correct Ans : D

Subject : Mental Ability

Q.No: 79 Complete the following series

2438777
12, 21, 39, 75, 147, ?
i @ & [ &
12, 21, 39, 75, 147, ?
273

A
273
291

B
201
283

C
283
263

D
263

Correct Ans : B

Subject : Mental Ability

Q.No: 80 Pointing to a person a man said to a woman ‘His mother is the only daughter of your father’. How was woman related to that person?

2439344
& e 3T 3R IURT B U TH ATeH 3 T Tiell F gl ‘T AT JreR T Bl st 3¢t 81| AR &1 39 safad F o Jay U1?
Aunt

A
9Tt
Mother

B
ot

C Sister
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Wife

et
Correct Ans : B

Subject : Mental Ability

Q.No: 81 14 notebooks of a class were corrected with ink pen while 22 notebooks were corrected with colour pencil. If 4 notebooks were
2442249 orrected with both, what is the strength of class?

TH & B 14 e &I Wil 04 F 3N faar a7 o1 Fafes 22 Aegs &1 39 URa 9 S fasar mar a1l afe <9 & 19 4 Aegs &1 dle far mn, a
D B T BT GO T 82

30

30
32

32
28

28
25

25
Correct Ans : B

Subject : Mental Ability

Q.No: 82 Which one word can be formed from the following letters?
2442848

ebla f f e in

fafefad siart ¥ HI9-T1 Uh Wed ST o Jobdl 32

ebla f f e in

incredible

incredible

ineffable

ineffable

intelligent

intelligent

D intrinsic
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intrinsic
Correct Ans : B

Subject : Mental Ability

Q.No: 83 Two statements are followed by two conclusions numbered I and II. You have to consider these statements to be true, even if they
2727631 geem to be at variance with commonly known facts. Decide which of the given conclusions logically follow/s from the given statement.

Statement:

Some desert is forest.
No forest is morning.
Conclusions:

(I) All forest is desert.

(II) No forest is desert.

fgfad vy o < oo T MU § e a1g < Fepy 1 9 11 RU 71U § 3ueh! 39 By ) I AT €, MOl & d gdard adt ¥ e ueiid g1 g1 fou e
frsmet & ¥ o 91 ey T T w5 BT aifdhe ©U ¥ STIR0 ST 7

B!
EERUSIEA !

BIS STeT YIE e ¢
s

(1) T et YRR g
(11) BIS STel IR =78l 21

Only I follow

Faa ey I SR ST 8

Only II follows

Fad Py 1T AR T @

Either I or II follows

a1 a1 ey 1 a1 s 11 SRR Fear @

Neither I nor II follows

T dt fredf 1 7 & fred 11 SRR et @

Correct Ans : C

Subject : Mental Ability

Q.No: 84 From the given alternative select the word which can not be formed using the letters of the given word.
2782064

TESMUSEDUCATIONS
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fou U foett H § I Xeg BT T B o AT 7T Weg F 31&RY BT ITANT B -e] ST S Febell B
TESMUSEDUCATIONS

TSUSDUATINS

TSUSDUATINS

TESMUSPUBL

TESMUSPUBL

EMUSEUCTIO

EMUSEUCTIO

TESUEUCAOS

TESUEUCAOS
Correct Ans : B

Subject : Mental Ability

Q.No: 85 Select the related word/letters/number from the given alternatives.

2782068
10001: 17:: 1100 :?
T U fawenl @ fawy =Meg / 38R / WA / BTSS! &I 1d B2
10001: 17::1100:?
10
A
10
12
B
12
15
C
15
14
D
14

Correct Ans : B

Subject : Mental Ability

Q.No: 86 The HCF of 242, 286 and 3%4 is 22. Which number it will bein *7
2427245

242, 286 3R 3*4 FHrv=diUE 22 B 7% * & Sl @ dEar g

A 6
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7

Correct Ans : D

Subject : General Aptitude

Q.No: 87 Find out the HCF of (a2 - 1), (a® - 1)and {(a?+ a - 2)

2427263

(a2 - 1), (2* - 1) and (a2 + a - 2) HTHCF A AT

a+1
A

a+1

a+2
B

a+2

a-1
C

a-1

a-2
D

a-2

Correct Ans : C

Subject : General Aptitude

Q.No: 88 If the train’s speed is 75 km/hr. Calculate distance travelled by the train in 13 hours.
2427284

I T A A 75 fpefyder B, d 13 € B 24 gRT 99 Y 1 g 31d PR

800 km
A

800 f&it

768 km
B

768 foet

C 975 km

GET IT ON

Google Play
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975 fett

807 km

807 fo it

Correct Ans : C

Subject : General Aptitude

Q.No: 89 If a man runs at 45 km/hr rather than at 35 km/hr, he would have covered 40 km more. Calculate the actual distance travelled by him.

2427342
TR BIS SATeH 35 fohell/Her F a9y 45 fHil/ger | Iadr 2 d 98 40 [ WeT FOR FRAT | ITP GRT IHT PI TS GRATAD g3t BI TUMAT B
35 km

A
35 e
140 km

B
140 frarieR
130 km

¢
130 fraieR
195 km

D
195 fearie

Correct Ans : B

Subject : General Aptitude

Q.No: 90 A train travels t km at 50 km/hr and another 2t km at 25 km/hr. Calculate the average speed of the train during the entire journey.
2427377

T ¢ 50 fopeily/ger 3R gast 2t fbet W 25 fpfly/sier &t am wRar 81 O T & SR 3 Bt 3N T B T0MAT B

12 km/hr
A

12 it/ ver

17 km/hr
B

17 it/ ver

7 km/hr
C

7 ot/ der

15 km/hr
D

15 it/ ver

Correct Ans : D
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Subject : General Aptitude

Q.No: 91 Find the largest fraction of the following fractions?
2432024
Fofafea s & 9 9o 53t fyd 31a sifve?

192
21

192
21

129
19

129
19

146
17

148
17

261

261

28

Correct Ans : B

Subject : General Aptitude

Q.No: 92 What is the least value of x such that 517x324 is divisible by 12?

2436206
X BT gATH HH o1 RN S 517x324, e 12 ¥ fqura g1 smee
3
A
3
1
B
1
0
C
0
2
D
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Correct Ans : D

Subject : General Aptitude

Q.No: 93 What value would come in place of the question mark (?) in the following equation?
2437012

1367631 x /148877 + /250047 — i/140608="?

fafafad gHiieR 8 uyars fag (2) & RIME R 1 34 S

1367631 x /148877 + /250047 — {140608="?

5585
A

5585

5764
B

5764

5894
C

5894

4996
D

4996

Correct Ans : C

Subject : General Aptitude

Q.No: 94 4 boys or 7 girls can finish a work in 18 days. How many days 12 boys and 21 girls will take to finish this job?
2438240

4 TSP 1 7 TSbaT et H1 HY 18 3 & U R Tehd §1 12 TSP 3IR 21 ASIHAT Bl 37 B &I ORI I & fbe fod T?

6 days
A

6 faa

5 days
B

5 faF

4 days
c

afem

3 days
D

3f

Correct Ans : D

Subject : General Aptitude
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Q.No: 95 9 men can do a work in 12 days working 4 hours a day. In how many days can 6 men do the same work, working 8 hours a day?
2438325

9 TN U A H IR 6 w1 axdp 12 Al H U 1f 9= I &1 6 Y20 I B &1 T A & 8 6 B v foba AT H I b &2

18 days
A

18 fa=

9 days
B

9 fe7

10 days
c

10 fe=

8 days
D

8w

Correct Ans : B

Subject : General Aptitude

Q.No: 96 In how many ways can 5 prizes be distributed among four students when every student can take one or more prizes:
2444387

5 S &1 4 fFafial o fan ueR  sier o1 Tl 8, Safe wis i et v ar sifie 39 ura aR T 8

1024
A

1024

625
B

625

120
C

120

600
D

600

Correct Ans : A

Subject : General Aptitude

24'1%49075 If A and B are mutually exclusive events such that P(A) = 0.4, P(B) = x and

P(AuB)= 0.5. Then x = ...
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afg A T B WEIT 9T gAY 50 R ¢ & P(A) = 0.4,P(B) = x 3T P(AuB)= 0.5.
ad x = ...:

0.2

0.2
0.1

0.1

Lo

1
2

Correct Ans : B

Subject : General Aptitude

24'1‘:5%82 The ratio of the number of students in three classes A, Band Care 3:7 : §. If ten students,
are wansfemred from C to B, B will have 80 students. Find the total number of students in the
three classes.

T FaTHl A, B C H g T qear FT AqUTa 3:7: 8§ AR T GATHICH B
H earaia i AT smar g, 9T B # 80 S g1 oG 11 FATA 7 grAi F Fer dehr
EICETIE L

150

150
160

160
180

180
D 210
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210

Correct Ans : C

Subject : General Aptitude

Q.No: 99 Find the area of trapezium.

2730259
A 14 B

AT H1 &% 1 BIfo |
A 14 B
s/ |a
[ 199}

E E 14 D c

75.650 sq.units

A
75.650 T 3BT
82.340 sq.units
B
82.340 I 3HTE
50.598 sq.units
C
50.598 T SHTE
65.780 sq.units
D

65.780 I 3HTS

Correct Ans : C

Subject : General Aptitude

Q.No: 100 A metal cuboid of dimension 22 cm X 15 cm X 7.5 cm was melted and cast into a cvlinder of height

2779443 14 cm What is its diameter? ? (Use n=2)
22 FHY < 15 FAY = 7.5 AT HATH d1el Ueh 91 & GATRR I e 7= R 14 3 F=rs are
T RIS T T | SR S AT (= =)
12 cm
A
12 9+t

B 6 cm
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6 9t

15 cm
C

15 It

7.5cm
D

7.5 3t

Correct Ans : C

Subject : General Aptitude
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